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Send Buffer & & Recv Buffer

[lctive Internet connections (including servers)

Proto Recv-Q Send-Q Local Address Foreign Address (state)

tcp4 0 0 192.168.1.5.50422 192.168.1.2.52632 ESTABLISHED
tcp4 0 0 192.168.1.5.50419 47.93.95.217.443 ESTABLISHED
tcp4 0 0 192.168.1.5.50418 47.93.95.217.443 ESTABLISHED
tcpb6 0 0 2408:8207:2627:1.50416 2001:470:1:791::.443 ESTABLISHED
tcpb6 0 0 2408:8207:2627:1.50415 2001:470:1:791::.443 ESTABLISHED
tcpd 0 0 192.168.1.5.50410 45.77.6.125.12345 ESTABLISHED
tcpd 0 0 127.0.0.1.1080 127.0.0.1.50409 ESTABLISHED
tcp4 0 0 127.0.0.1.50409 127.0.0.1.1080 ESTABLISHED
tcp4 0 0 192.168.1.5.50401 184.86.93.121.443 ESTABLISHED
tcpd 0 0 192.168.1.5.50399 107.21.170.218.443 ESTABLISHED
tcpd 0 0 192.168.1.5.50393 111.230.120.127.443 ESTABLISHED
tcpd 0 0 192.168.1.5.50373 44.231.203.246.443 ESTABLISHED
tcp4 0 O 192.168.1.5.50368 45.77.6.125.12345 ESTABLISHED
tcpd 0 0 127.0.0.1.1080 127.0.0.1.50367 ESTABLISHED
tcpd 0 0 127.0.0.1.50367 127.0.0.1.1080 ESTABLISHED
tcpd 0 0 192.168.1.5.50364 45.77.6.125.12345 ESTABLISHED
tcp4 0 0 127.0.0.1.1080 127.0.0.1.50363 ESTABLISHED
tcpd 0 0 127.0.0.1.50363 127.0.0.1.1080 ESTABLISHED
tcp4 0 0 192.168.1.5.50362 45.77.6.125.12345 ESTABLISHED
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https://blog.csdn.net/timid_brother/article/details/52200737

sock_fd = socket(PF_INET, SOCK_STREAM, 0);

if(bind(sock_fd, (struct sockaddrx)&serv_addr, sizeof(serv_addr)) = -1) {
error_handling("bind error");
}
°
if(listen(sock_fd, 5) = -1) { SOCket
error_handling("listen error"); ° -
} bind
epfd = epoll_create(EPOLL_SIZE); y ||Sten
* accept
while(1) {
event_cnt = epoll_wait(epfd, ep_events, EPOLL_SIZE, -1); ° epO”_Create

ooooo

* epoll_wait
for(i=0; i<event_cnt; i++) {
if(ep_events[i].data.fd = sock_fd) { ° epo”_ctl

read

conn_fd = accept(sock_fd, (struct sockaddr*)&client_addr, &addr_size);
event.data.fd = conn_fd; ° erte

event.events = EPOLLIN;
epoll_ctl(epfd, EPOLL_CTL_ADD, conn_fd, &event);
printf("connected client : %d\n", conn_fd);

} else {
str_len = read(ep_events[i].data.fd, buf, BUF_SIZE);
if(str_len = 0) {

epoll_ctl(epfd, EPOLL_CTL_DEL, ep_events[i].data.fd, NULL); ZIK/_.I__\1§|JFI\/_\EE demo, ?E%’-‘Eﬁin

close(ep_events[i].data.fd);

printf("closed client: %d\n", ep_events[i].data.fd); %I
} else { ili E

write(ep_events[i].data.fd, buf, str_len);




sock_fd = socket(PF_INET, SOCK_STREAM, 0);

if(bind(sock_fd, (struct sockaddrx)&serv_addr, sizeof(serv_addr)) = -1) {
error_handling("bind error");

if(listen(sock_fd, 5) = -1) {
error_handling("listen error");

epfd = epoll_create(EPOLL_SIZE);

..... ; o Bz =0 epoll F2%,

while(1) {

event_cnt = epoll_wait(epfd, ep_events, EPOLL_SIZE, -1); read *I:I erte %ﬁfx*ij(%%&
""" EpEEESEELS

for(i=0; i<event_cnt; i++) {
if(ep_events[i].data.fd = sock_fd) {
conn_fd = accept(sock_fd, (struct sockaddr*)&client_addr, &addr_size);
event.events = EPOLLIN;

event.data.fd = conn_ﬂ'j; O -IEIZPRE ’I%ﬂ.ll \ EH?]-

epoll_ctl(epfd, EPOLL_CTL_ADD, conn_fd, &event);

: elzzi?tf("connected client : %d\n", conn_fd); ;EQ, X&L\XEEI'Ii

str_len = read(ep_events[i].data.fd, buf, BUF_SIZE);
if(str_len = 0) {
epoll_ctl(epfd, EPOLL_CTL_DEL, ep_events[i].data.fd, NULL);

( wEep_events[i].daza.fa); i EJL\/U:%_ I I}lb?i-E/J C Iﬁg%

printf("closed client: %d\n", ep_events[i].data.fd);

} el\j/iiie(ep_events[i].data.fd, buf, str_len); E, 1—%6522%?&%%}5;%&
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M accept g, #Ez&E:2%E, RiElFN, e AXBES]R
1 package main
p.
3 import "net"
4
5 func main() {
6 var 1 net.Listener
7 for {
8 c, _ := L.Accept()
9 go func() {
10 // do your business logic
11 var buf = make([]lbyte, 1024)
12 c.Read(buf)
13 3()
14 }
15 }

Go B=2EAE umwa TEHEIE Read #]
Write BU3EFE E RIZTI AL T FHERIE. ENAAL]
S=HEEE, B4 5EERLNE
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000 000
type File struct {
type netFD struct { xfile
pfd poll.FD }

type file struct {

family int pfd poll.FD

sotype int name string
isConnected bool dirinfo *dirInfo

net string nonblock bool

laddr Addr stdoutOrErr bool

raddr Addr appendMode bool

} }

net/fd_windows.go os/file_windows.go
net/fd_unix.go os/file_unix.go
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// windows F1 linux XX poll.FD HEXZELXFHY
type FD struct {
[/ ZEPBEN TIRIEXNE—TXHE. SEHEsED3IHFIIT
fdmu fdMutex
[/ BETBBRIERGATANNRERN fd B
Sysfd int
// 1/0 poller. XZ Go Xf poll TREMN—THZR, FRIEFarIHREE—H=F8Y
pd pollDesc
// Writev cache.

R internal/poll/fd_windows.go
// XEHXFARNSHMAIZ sema |nterna|/p0”/fd_unlxgo

csema uint32

// WRIE 0, wBA FD #IREANT blocking #&RzI{

isBlocking uint32

/! XDETEArE—"TRAN FD, SAERNEET packet #9, Bl UDP socket, ZEAAE
IsStream bool

// SEEEE] 0 KEKR, ARXoEERE EOF, IRZETEHEMN socket HFWRERZE false
ZeroReadIsEOF bool

/] XX FD RERMENH, BB ER

isFile bool
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epoll_create

Bl%2 timer B9 non blocking pipe

Bid epoll_ctl 1T pipe BY read i
fd B9B[IEEH



Go Mz3Zmiz &7 )miz-Listen

TCP By Listen 572

S X EiFH bind/listen syscall
XEB A socket syscall




Go MBRIEE AN RFE-Accept

TCP B9 Accept itz

Accept B INfE,
1 fd IRE RN nonblocking
- £ netpollopen FE@E epoll_ctl M fd B9IE. BEHAITTE

1 @ 0x10383b0 0x103lab6a 0x1030fd5 0x10c5025 0x10c7884 0x10c7866 0x11£f3192 0x120cc62 0x1l20baa4 0x131122d 0x1310£f77 0x1350737 0x1350700 0x1037fea 0x1067a51
# 0x1030£fd4 internal/poll.runtime pollWait+0x54 /usr/local/go/src/runtime/netpoll.go:203

# 0x10c5024 internal/poll. (*pollDesc).wait+0x44 /usr/local/go/src/internal/poll/fd poll runtime.go:87
# 0x10c7883 internal/poll. (*pollDesc).waitRead+0x1d3 /usr/local/go/src/internal/poll/fd poll runtime.go:92
# 0x10c7865 internal/poll. (*FD).Accept+0x1b5 /usr/local/go/src/internal/poll/fd unix.go:384

# 0x11£3191 net. (*netFD).accept+0x41 /usr/local/go/src/net/fd unix.go:238

# 0x120cc61 net. (*TCPListener).accept+0x31 /usr/local/go/src/net/tcpsock posix.go:139

# 0x120baa3 net. (*TCPListener).Accept+0x63 /usr/local/go/src/net/tcpsock.go:261

# 0x131122c net/http. (*Server) .Serve+0x25c /usr/local/go/src/net/http/server.go:2930

# 0x1310£76 net/http. (*Server).ListenAndServe+0xb6 /usr/local/go/src/net/http/server.go:2859

# 0x1350736 net/http.ListenAndServe+0x96 /usr/local/go/src/net/http/server.go:3115

# 0x13506ff main.main+0x5f /Users/xargin/test/go/http/httptest.go:28

# 0x1037fe9 runtime.main+0x1£f9 /usr/local/go/src/runtime/proc.go:203




Go MZmIEE RN RFE-Read

TCP By Read 72

connection read block

X ME pprof BN 1% EAGA| \
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TCP 89 Write 2

connection write block

EAGAIN




func netpollblock(pd *pollDesc, mode int32, waitio bool) bool {

runtime.pollWait SCI) s e e

gpp = &pd.wg
}
000
// set the gpp semaphore to pdwait
) ) ) for {
func poll_runtime_pollwait(pd *pollDesc, mode int) B—
errcode := netpollcheckerr(pd, int32(mode)) if old = pdReady {
if errcode = pollNoError { *gpp = 0
return true
return errcode }
} if old = 0 {
throw("runtime: double wait")
}
for !netpollblock(pd, int32(mode), false) { if atomic.Casuintptr(gpp, 0, pdwait) {
errcode = netpollcheckerr(pd, int32(mode)) , break
if errcode = pollNoError { }
return errcode
} if waitio || netpollcheckerr(pd, mode) = 0 {
gopark(netpollblockcommit, unsafe.Pointer(gpp),
} easonIOWait, traceEvGoBlockNet, 5)
return pollNoError }

old := atomic.Xchguintptr(gpp, 0)
if old > pdwait {

Z:EIJEHF EEEH-—I. Read XTEZEE Write Z:T } throw("runtime: corrupted polldesc")

return old = pdReady
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FAEMN GC xR EESWE—IX netpoll, BEEEEEZ ready B fd

8 proc.go @ startTheWorldWithSema 1246  list -~ netpoll(0)

8 proc.go @ findrunnable 2756 list netpoll(0); list.empty() {
B proc.go @ findrunnable 2947 list  netpoll(delay)

B proc.go @ pollwWork 3001 list netpoll(0); list.empty() {
8B proc.go @ sysmon 5392 list — netpoll(0)

B time.go 420

BYTFESRAERTEHPEES netpoll, HMERIERIAZLLRSHY



func netpoll(delay int64) gList {
N var events [128]epollevent
JILTE

n := epollwait(epfd, &events[0], int32(len(events)), waitms)

netpoll 1

var toRun glList

epO” H&E’\] netpO” for i := int32(0); i < n; i+ {
ev := §events[i]
if ev.events = 0 {
continue
}

event Ff data fi= pollDesc

var mode 1int32
if ev.events&(_EPOLLIN|_EPOLLRDHUP|_EPOLLHUP|_EPOLLERR) = 0 {
mode += 'r'

}
L if ev.events&(_EPOLLOUT|_EPOLLHUP|_EPOLLERR) = 0 {
TRE ready F9SE 42 Read 5 node += 'w’
. }
Write 935l M pollDesc B9 rg. if mode % 0 {
PR . d := 11D fe.Poi Sev.d
WQg J:%%Ulgﬂﬁﬁgﬂ’\] goroutlne gd.eve:f«*’:p?dLb:SC)(unsa e Pointex(sey.data))
if ev.events = _EPOLLERR {
pd.everr = true
}
netpollready(&toRun, pd, mode)
}

}

_ B
}




netpoll H1TIRIE
B2 ready HJ goroutine push Fl| toRun §%3%

func netpollready(toRun xglList, pd *pollDesc, mode int32) {
var rg, wg g
if mode = 'r' || mode = 'r'+'w' {
rg = netpollunblock(pd, 'r', true)

+

}
if mode = 'w' || mode = 'r'+'w' {

wg = netpollunblock(pd, 'w', true)
}

if rg = nil {
toRun.push(rg)

}

if wg #%= nil {
toRun.push(wg)

}

toRun FlZR &R M netpoll() FFiR[E], 1@ injectglist AN ERFFATI



netpoll 5§ timer &5

A timer I8, HI87# checkTimers &%), BELMBAT:

# netpoll_windows.go 38 netpollWakeSig uint32
B proc.go @ syscall_runtime_doAllThreadsSyscall 1709 netpoliBreak()
8 proc.go @ findrunnable 2921  netpollBreak()
B proc.go @ wakeNetPoller 3192 netpollBreak()

1% B8 n] BEIE 7EFHZERY netpoll & FEH1TLME

XEHEINREPEZER epoll_wait, £17Zl5R[D]
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144 Read 10.Reader

145 (fd *FD) Read(p [dbyte) (int, error) {

146 err fd.readlLock(); err nil {

147 @, err

148 }

149 fd.readUnlock()

150 len(p) 9 : 0, nil

158 err fd.pd.prepareRead(fd.isFile); e nil : 0, err _J
161 fd.IsStream len(p) - maxRW {

162 p - p[:maxRW] EIT, jiﬁ’] readLock 2% WA

163 } read lock, [El—ZEZMIFTE read #EK
164 { - WERFRN -
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(fd *FD) Write(p []byte) (int, error) {

err fd.writeLock(); err nil )
fd.writeUnlock() Bl —FKERNMESHERILEE K/
err fd.pd.prepareWrite(fd.isFile); err nil : @0, err _J
nn int
{
max len(p)

}

n,

fd.IsStream max nn - maxRW {

max

err
n

0 {

nn maxRW

syscall.Write(fd.Sysfd, p[nn:max])
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A 1% LRSS, —fERRERRD, KB2XRMUT:

EEEEN: 5w TEFEEEC 1kiZ1‘$E’\J’|%} , BIAERESERTFIEEHIRE.
NEERHEE, —iRlER FNEFZFEZEE conn.Read L,

Fr B RHZER goroutine #8& 5 goroutine B9tk = (8], AKX Read buffer BIZS (8]

goroutine profile: total 257
174 @ 0x10383b0 0x103la6a 0x1030fd5 0x10c5025 0x10c5f21 0x10c5f03 0x11£f28df 0x12044de 0x1306dc4 0xl0e7al3 0x10e872d 0x10e8964 0x12

# 0x1030£d4 internal/poll.runtime pollWait+0x54 /usr/local/go/src/runtime/netpoll.go:203

# 0x10c5024 internal/poll. (*pollDesc).wait+0x44 /usr/local/go/src/internal/poll/fd poll runtime.go:87
# 0x10c5£20 internal/poll. (*pollDesc).waitRead+0x200 /usr/local/go/src/internal/poll/fd poll runtime.go:92
# 0x10c5£02 internal/poll. (*FD) .Read+0xle2 /usr/local/go/src/internal/poll/fd unix.go:169

# 0x11f28de net. (*netFD) .Read+0x4e /usr/local/go/src/net/fd_unix.go:202

# 0x120444dd net. (*conn) .Read+0x8d /usr/local/go/src/net/net.go:184

# 0x1306dc3 net/http. (*connReader) .Read+0x£f3 /usr/local/go/src/net/http/server.go:797

# 0x10e7al2 bufio.(*Reader).fill+0x102 /usr/local/go/src/bufio/bufio.go:100

# 0x10e872c bufio. (*Reader).ReadSlice+0x3c /usr/local/go/src/bufio/bufio.go:359

# 0x10e8963 bufio. (*Reader) .ReadLine+0x33 /usr/local/go/src/bufio/bufio.go:388

# 0x129320b net/textproto. (*Reader).readLineSlice+0x6b /usr/local/go/src/net/textproto/reader.go:58

# 0x13014e3 net/textproto. (*Reader) .ReadLine+0xa3 /usr/local/go/src/net/textproto/reader.go:39

# 0x1301512 net/http.readRequest+0xd2 /usr/local/go/src/net/http/request.go:1015

# 0x13081a0 net/http. (*conn) .readRequest+0x190 /usr/local/go/src/net/http/server.go:983

# 0x130c753 net/http. (*conn) .serve+0x6d3 /usr/local/go/src/net/http/server.go:1850

ATBOAY, XMRIVERARRIRFE: ARERNEIRIEERE SRR ZRIRIR




func (ep *Epoll) wait(onError func(error)) {
defer func() {

X B netpoll BIRAEMMA A2

(ep.waitDone)

O
events := make([Junix.EpollEvent, maxWaitEventsBegin)
callbacks := n ([I1func(EpollEvent), 0, maxWaitEventsBegin)

1% Go B4 goroutine per connection ISRk, ol

n, err := unix.EpollWait(ep.fd, events, -1)
if err = nil {

1&24[=] syscall.EpollWait FI[El{EEL, RIEH i emporaryers (o)
}
5 C/C++ 1Y (e
}

callbacks = callbacks[:n]

XAFIETEERIERRTE Go NN AHEEAR G REA et oy o

fd := int(events[i].Fd)

ZFRHY, FEREIZEH EpollWait IR [E]RYSE 4R = e et

return

E, =i EpollWait i%[E] events B, BEoh/E| L tbacks 3] = ep.cattbackel o]
goroutine ZbEE

}
ep.mu.RUnlock()

1L

for 1 := 0; 1 < n; i+ {
if cb := callbacks[i]; cb %= nil {
cb(EpollEvent(events[i].Events))
callbacks[i] =

}

if n = n(events) & n*2 < maxWaitEventsStop {
events = make([]Junix.EpollEvent, nx%2)
callbacks = make([]func(EpollEvent), 0, nx2)







